1089

LIFTER UNITS

HAMMD80
4140
M12@
290
2—¢18 \ 55 260
o«
50 ‘ M16 4+M12
‘ (Thread for lifting)
320-+0.2
350
e eoR
— g 180
I w g’
£
o
} LT 1 I 1 }
2 [ NR A
J 1o DT T ) [T T :
I A
h |
T I
II ) ) !
| 2l | O
5 ®0 ‘ )
i Cyhnder‘diameter g
- , R ® 480 s
-~ @B ‘ (D) | -JI—
S | _L S
430 !
070
o ]|
195 2—Rc3/8
®W
Il Components list
No. Name Qty. Material & remarks No. Name Qty. Material & remarks
@ |Lifting plate 1 |Equivalent to SS400 ® |Nut 3 |M24
® |Mounting base plate 1 |Equivalent to SS400 (0 |Hexagon socket head cap bolt| 4 |M10
® |Guide bushing 2 |FC250 oil-free @) |Hexagon socket head cap bolt| 4 [M12 X 35
@ |Guide bar 2 |S45C HRC50 ~ 60 @@ |Flat washer 1 |For M24
(® |Link block 1 |S45C @ |Spring washer 2 |For M24
® |Padding block 1 |Equivalent to SS400 Hexagon socket head cap bolt| 2 [M8 X 30
@ |Cusion block 2 |Urethane
Cylinder 1 |Made by AIRTAC

Lifting stroke ST| 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150
Height of retainerH [ 40 30 20 10 - 40 30 20 10 — 40 30 20 10 —
Cylinder stroke 50 100 150
Lifting stroke ST 160 170 180 190 200 210 220 230 240 250
Height of retainer H 40 30 20 10 — 40 30 20 10 —
Cylinder stroke 200 250
K R . @ Actual cylinder output
Catalog No. Cylln(d;)r dia. 1"[']"'"9.3"“8 STI Air pressure: 500kPa
e Cremen approx. 2450X0.7=1715N
10~ 50
60~100
HAMMD 80 110~150
160~200
210~250
[ Catalog No. |[ (®) | — [ 5T | () e 01 0] - (571 - (]
Order | @7 || Alterations HAMMD 80 — 120 — S
HAMMD 80 — 120 ’
‘ Alteration Code Spec.
WI"ﬂvswsm Quotation S g | Change to SMC
change cylinder
P Price
M Retainer(®) For LIFTER UNITS Catalog No. (D) T
HAMMG 10
4— g1 20
£ HAMMG 80 ——
30
&g | o =
7 ‘ Catalog No. H (D) ‘—‘ T ‘
i 1 Order
HAMMG 80 — 20
O | & ﬁlnaysmship
Lo | |1
P Price
(@ Equivalent to S5400
ex Example
See the illustration for the space for casting installation.
********* N
| IRE
‘ & . E
: &) —©) Lo
. &/
_© | 9] |s
r ‘ ‘ =
HJ&B& cautious to avoid I =
! contacting air pipe joints

S RS

CONVEYANCE COMPONENTS
FOR AUTOMOTIVE DIES

1090



